ADZID2FAHYT
REP BOEA> R R= 12H(1) U10

AL == O ] = thES Y
1| |=E O34  |NOAH m#pfER | S| 8 0-4 0-4 0-2| 3f
2= KO KT BITS B0 4-0 4-2 2-0| 111
3| K& tHE tennis company |[SE%|8| 4-0 2-4 1-1| 21z
4

350 g & 75 B =1 LR q
1404 PG B JTWIF=2NE | k| 8 4-3 4-3 2-0| 1M1
2 (| 16 FE (B30 E%(9| 3-4 3-4 |0-2| 4
3| A B (9| 3-4 4-2 |1-1]| 2fu
4|5 BT B |FEPERILTC Tt | 8 4-3 2-4 1-11 3fu
Ub—IL-F=FIE] (S>F>IRA> MR )

TR JBAIBI b —F X MATROVETS . 1,26Ih—F 3 h 3, 4fb—F0h CHELEBRESL,

SNEIE. 1vs2-3vsd/1vs3-2vsd /D25 EZITVET .

JBALREFS A OB QBEIEMR @OFKkmE @F>F>) DIEETRELFT.
“F& 45— LR -TRICT-SHFROFE

AKE 67— LGB -7 RIS HFROFE


http://www.spojin.com/ranking/pdf/20160201ranking.pdf
http://www.spojin.com/ranking/pdf/20160201ranking.pdf
http://www.spojin.com/ranking/pdf/20160201ranking.pdf
http://www.spojin.com/ranking/pdf/20160201ranking.pdf

-y IR DF AT
Flay REP FEOEA>RVAS 128(1) U10
1,2 h=FX> b 3,4 b—=F A b
K K3 =@ 0
TS NOAH FREBFEAL
= fh | it = E7
64 61
= £h 1trh S5k
= fh b7 155k
64 65
AE tHE bye
tennis company
i
61
hrg & =T BR

SKTUHF=INE REPERILTC



ADZID2FAHYT
REP BOEA R R= 12H(1) U112

AT e = g q
1 {wose| FFFHF B FEDELTC Bt |11 4-0 3-4 1-1| 2
2| |AB LK TAILEO NS | BtE|11] 0 -4 0-4 0-2| 3Mi
3|77 KR 1% RILF=ZY57 | Bt(11] 4 -3 4-0 2-0| 111
4
B _J [ = = "

1|58| W RYS A£3R | 1 NOU ES=27855— | B |12 3-4 2-4 0-2| 3fi
2|2 KAt BBk mOEOD->F=2957 | @k |11] 4 - 3 3-4 1-1| 21z
3| =0 HLL S NO—-ZR-Y B 12| 4-2 4-3 2-0| 14z
4

O] 5| R= =) (S>F>IRA> MR )

PRI, IBAIBIN—F A MATROET, 1,26 =T XK 340Ih—FX0h  CHoESRBEEN,

SNEIE. 1vs2-3vsd/1vs3-2vsd /D25 EZITVET .

JBALREFS A OB QBEIEMR @OFKkmE @F>F>) DIEETRELFT.
“F& 45— LR -TRICT-SHFROFE

AKE 67— LGB -7 RIS HFROFE


http://www.spojin.com/ranking/pdf/20160201ranking.pdf
http://www.spojin.com/ranking/pdf/20160201ranking.pdf
http://www.spojin.com/ranking/pdf/20160201ranking.pdf
http://www.spojin.com/ranking/pdf/20160201ranking.pdf

P2 ADZIDF AT
" :71:] Shinge Match —_ “ P
o REb ADEAV R/ AR 12H(1) U12
1,2 h=FX> b 3,4 h—=F X
KB 1% KB LK
FERILFT=Z95T TAIL > NMEBS
AN 2B T YRYY FER
63 61
AAT 2B FyRYY HEFR
FEOE0->7=2957 I NOUEF=A7HF3—
i iE{—
_ 64
¥t aE{—
BOELTC
i is—
61
fELl =K

J\O—Zh—Y



/’)

) - ey
=T __J Ghalionge Matoh

SrL2ovys

(10 F DEf]
B : FAK W EF

#B5E e B EF
(12 F DEf]
245 : #rH 5 =F
#BE 1 KN ER &EF




